Covington Public Works/Utilities

DIRECTOR OF PUBLIC WORKS

City of Covington

Public Works Meeting

City Hall

LLC at 4:00 P.M.

June 2, 2020

- 1. Bald Butcher parking lot discussion. (City Attorney)
- 2. Inventory analysis for 20/21 budget. (See attached)

Other Business:

1. Code Division monthly report: (See attached)

Adjourn:

CHEMICALS FY 2020 -2021

ITEM	Est. Usage	Bid	Ext. Cost
BRENNTAG MIDSOUTH			
150 LB CYL CHLORINE	100	0.445/lb	\$6,675.00
2000 LB CYL CHLORINE	48	0.2699/lb	\$25,910.40
50 LB BAG SOD. SIL. FL	200	0.87/lb	\$8,700.00
50 LB BAG HYD. LIME	700	0.21/lb	\$7,350.00
20000 LB SULFUR DIOX	43	0.39/lb	\$33,540.00
TOTAL BID:			\$82,175.40

ITEM	Est. Usage	Bid	Ext. Cost
HARCROS			
150 LB CYL CHLORINE	100	.44/LB	\$6,600.00
2000 LB CYL CHLORINE	48	.32/LB	\$30,720.00
50 LB BAG SOD. SIL. FL	200	.92/LB	\$9,200.00
50 LB BAG HYD. LIME	700	.235/LB	\$8,225.00
20000 LB SULFUR DIOX	43	.42/LB	\$36,120.00
TOTAL BID:			\$90,865.00

Part #	Description		
		G&C	Tri-State
GS0065	Coupling - Lycofit 1"	\$22.34	
GS0064	Coupling - Lycofit 3/4"	\$20.63	
GS0300	Coupling - Lycofit 2"	\$77.51	
GS0088	Meter- 275 new	\$117.00	\$109.91
GS0228	Meter spud Jbend w/mpt	\$26.00	
GS0016	Nipple Black- 1" x 3"	\$3.10	
GS0103	PE tubing- 1" ips	\$0.50	
GS0104	PE tubing- 2" ips	\$0.86	
GS0105	PE tubing- 3/4" ips	\$0.34	
GS0119	Regulator 1" x 1"	\$61.77	\$48.41
GS0249	Riser- 1" plastic x 1" steel	\$34.50	,
GS0122	Riser- 3/4 " plastic x 1" steel	\$46.00	
GS0229	Tapping Tee 2" saddle x 1" butt fusion	\$8.50	
GS0215	Tapping Tee 2" saddle x 3/4" butt fusion	\$8.00	
GS0268	Tapping Tee 4" saddle x 1" butt fusion	\$8.50	
GS0275	Tapping Tee 4" saddle x 3/4" butt fusion	\$8.00	
GS0205	Trace wire- 12 gauge	\$0.15	
GS0009	Transition tee- 3/4"	\$98.10	
GS0230	Valve Box- 5 1/4" CI -gas	\$29.00	
GS0200	Valve curb tee- no blow 2" mueller	\$189.50	
GS0040	Wing Stop-1"	\$23.60	

WATER FY 2020 - 2021

PART#	DESCRIPTION	
		G&C
WT0106	Angle valve 3/4" x 5/8"	\$33.65
WT0182	Ball valve- 1" fpt x 1" cts pj	\$62.70
WT0035	Ball valve- 3/4" fpt x 3/4 cts	\$35.53
WT0083	Copper Tubing- 1"	\$3.10
WT0084	Copper Tubing- 3/4"	\$2.47
WT0147	Corporation Stop- 1" cts pj x 1" cct	\$44.01
WT0146	Corporation Stop- 3/4" cts pj x 3/4" cct	\$29.10
WT0002	Hydrant- 3way-3' bury- 6" shoe	\$1,500.00
WT0011	Meter Box - large (plastix w/ci lid)	\$42.00
WT0009	Meter Box - small	\$30.00
WT0295	Meter Box Lid- large	\$19.50
WT0287	Meter Box Lid- small (metal lid)	\$15.00
WT0110	Meter Setter - 1"	\$165.41
WT0021	Meter Setter - 2 " with bypass	\$946.21
WT0111	Meter Setter - 5/8" x 3/4"	\$96.88
WT0112	Meter- 1"(Itron ERT ready)	
WT0007	Meter- 2" (Itron ERT ready)	
WT0113	Meter- 5/8" (Itron ERT ready)	
WT0123	Nipple brass - 1 x 2	\$3.28
WT0120	Nipple brass - 3/4 x 2	\$2.27
WT0163	Tapping saddle - 6 x 1	\$41.35
WT0151	Tapping saddle - 6 x 2 bronze	\$78.02
WT0167	Tapping saddle - 6 x 3/4	\$41.35
WT0164	Tapping saddle - 8 x 1	\$56.83
WT0008	Tapping saddle - 8 x 3/4	\$56.83
WT0277	Valve box- 5 1/4 " - water	\$29.00
WT0309	Valve box riser 2"	\$9.95

SEWER FY 2020 - 2021

PART#	DESCRIPTION	UNIT	
			G&C
SW0003	Cleanout 4" SCH 40 Female	each	\$4.95
SW0025	Coupling Plastic 4" SCH 40	each	\$6.95
SW0118	Coupling Rubber 6" PL x 6" PL	each	\$8.90
SW0113	Coupling Rubber 4" Pl x 4" Clay	each	\$4.27
SW0066	Coupling Rubber 4" PL x 4" Concrete	each	\$4.61
SW0105	Coupling Rubber 4" Pl x 4" PL	each	\$4.27
SW0005	Coupling Rubber 4" PL x 6" Concrete	each	\$10.25
SW0120	Coupling Rubber 4" PL x 6" Clay	each	\$10.25
SW0122	Coupling Rubber 4" Pl x 6" PL	each	\$10.25
SW0029	EII 22 1/2 4" SCH 40 PVC	each	\$5.74
SW0031	EII 45 4" SCH 40 PVC	each	\$6.44
SW0002	Gloves- Latex	box	\$7.95
SW0097	Glue Plug- 4" Male SCH 40 PVC	each	\$6.95
SW0040	Pipe- SCH 40 4" x 20'	foot	\$1.50
SW0042	Pipe- SDR 26	foot	\$2.59
SW0008	Rainsuit	each	\$9.95
SW0117	Safety Glasses	each	\$4.50
SW0112	Safety Vest	each	\$7.95
SW0047	Screw Plug 4" for female cleanout	each	\$2.35
SW0079	Tapping Saddle 4" Romac	each	\$82.89
SW0078	Tapping Sadde 6" Romac	each	\$105.69
SW0001	Wye 4" SCH40 w 1/8 Bend	each	\$18.78

CONCRETE FY 2020 - 2021

ITEM	COMPANY	
Bid Per Man Hour	BOBBY AUSTILL CONCRETE CONST.	
	\$ 23.00	

ROCK DELIVERED FY 2020 - 2021

ITEM	EST. USAGE	PRICE PER TON	TOTAL BID
MID-SOUTH CONSTRUCTION			
33C LIMESTONE MATERIAL	3,000	\$22.60	\$67,800.00
RED SAND	1,000	\$11.50	\$11,500.00
WASH ROCK	120	\$23.00	\$2,760.00
LIMESTONE RIP RAP (CLASS A-1)	200	\$29.50	\$5,900.00
CR 610	1,000	\$22.60	\$22,600.00
57 LIMESTONE	1,000	\$25.50	\$25,500.00
GABION STONE (4" - 8")	200	\$29.50	\$5,900.00
TOTAL BID			\$141,960.00

ITEM	EST. USAGE	PRICE PER TON	TOTAL BID
FULLEN DOCK & WAREHOUSE			
33C LIMESTONE MATERIAL	3,000	\$25.00	\$75,000.00
RED SAND	1,000		
RIVER SAND (SUB FOR RED SAND)	1,000		
WASH ROCK	120		
LIMESTONE RIP RAP (CLASS A-1)	200	\$33.00	\$6,600.00
CR 610	1,000	\$25.00	
57 LIMESTONE	1,000	\$26.50	
GABION STONE (4" - 8")	200	\$33.00	\$6,600.00
TOTAL BID			\$139,700.00

ITEM	EST. USAGE	PRICE PER TON	TOTAL BID
R&L Transport Company			
33C LIMESTONE MATERIAL	3,000	\$23.00	\$69,000.00
RED SAND	1,000	\$15.50	\$15,500.00
WASH ROCK	120	\$27.00	\$3,240.00
LIMESTONE RIP RAP (CLASS A-1)	200	\$31.50	\$6,300.00
CR 610	1,000	\$23.00	\$23,000.00
57 LIMESTONE	1,000	\$25.00	\$25,000.00
GABION STONE (4" - 8")	200	\$32.50	
TOTAL BID			\$148,540.00

CODE COMPLIANCE DEPARTMENT



PUBLIC WORKS COMMITTEE MEETING JUNE 2, 2020



CODE COMPLIANCE DEPARTMENT

mailed to property owners informing them of the recently adopted TOUCH POINTS: Notices have begun to be placed on properties and Property Maintenance Ordinance that is attached.

1. Animal Control—

- a. Inquiries 34
- b. Dogs to foster 2
- c. Dogs picked up by owners -1
- d. Dogs to Dr. Clay -2

2. Beer Licenses –

- a. Inquiries 26
- b. New Permits 2
- 3. Blight Eradication -
- a. Round 3 has been completed



CODE COMPLIANCE DEPARTMENT



PUBLIC WORKS MEETING JUNE 2, 2020

- 4. Business Licenses –
- a. Inquiries 52
- b. New Applications 3
- c. Renewals Processed 42
- 5. Code Violations –
- a. Inquiries 47
- b. Letters 58
- c. Notices -3
- 6. Cemetery –
- a. Inquiries 24
- b. Grave Sales -1
- 7. Court Clerk –
- a. Telephone Inquiries 59



Grass in a storm drain floods the streets!

- 8. Proclamation/Resolution -2
- 9. Public Works –
- a. Inquiries 26
- 0. Sign -
- a. Inquiries 13
- b. Pickups 25
- c. Applications 1



CODE COMPLIANCE DEPARTMENT



PUBLIC WORKS COMMITTEE

MEETING

JUNE 2, 2020

ORDINANCE NO 1722

AN ORDINANCE TO AMEND TITLE 13-PROPERTY MAINTENANCE REGULATIONS, CHAPTER 1-MISCELLANEOUS, OF THE COVINGTON MUNICIPAL CODE BY ADDING THE FOLLOWING NEW SECTION 13-108.

WHEREAS, the Board of Mayor and Alderman deem it necessary, for the purpose of promoting the health, safety, prosperity, morals and general welfare of the City of Covington; and

WHEREAS, the Board of Mayor and Alderman have discussed and reviewed proposed amendment; and

NOW, THEREFORE, BE IT ENACTED BY THE BOARD OF MAYOR AND ALDERMAN OF THE CITY OF COVINGTON, TENNESSEE:

Section 1. It is unlawful for any person to allow the accumulation of any waste, waste paper, cans or other materials, litter, garbage, trash or rubble of any kind on the public right-of-way of any street or alley immediately adjacent to and abutting that person's property. The owner and/or occupant of property shall also keep right-of-ways upon which the private property abuts mowed.

Section 2. Violation of this ordinance shall subject offenders to a fine of \$50.00 per day of violation.

Section 3. BE IT FURTHER ORDAINED that this ordinance shall become effective immediately upon its passage after third and final reading, the welfare of the City requiring it.

Passed on 1st Reading

Passed on 2nd Reading

Public Hearing

14 January 2020 14 January 2020

Passed on 3rd & Final Reading